


# On Dual Hyperbolic Narayana and Narayana-Lucas Hybrid Quaternions

Pankaj Kumar<sup>1</sup>✉\* and Shilpa Kapoor<sup>1</sup>✉

<sup>1</sup>Srinivasa Ramanujan Department of Mathematics, Central University of Himachal Pradesh, Dharamshala, Shahpur, India   
\*Corresponding author

## Article Info

**Keywords:** Hybrid number, Hyperbolic, Narayana-Lucas sequence, Quaternions

**2020 MSC:** 11B37, 11B39, 11B50, 20G20

**Received:** 29 April 2025

**Accepted:** 13 July 2025

**Available online:** 05 September 2025

## Abstract

In this present communication, we introduce the novel concepts of dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions within the framework of hybrid numbers. We also explore the connections between these newly defined quaternions and examine the mathematical properties they share. Additionally, we find the recurrence relations, Binet formulas, generating functions, exponential generating functions, and other meaningful identities. These newly introduced quaternions have significant applications in the fields of quantum physics, computer graphics, and robotics. Additionally, these identities and relationships we established also play an important role in the field of number theory and combinatorics.

## 1. Introduction

In the recent years, significant work has been done in the field of number sequences due to their wide range of applications in quantum physics, number theory, robotics, and image encryptions. Number sequences also plays an important role in the areas such as stock market, currency exchange and many others [1, 2]. An examination of specific number-theoretic properties in the context of algebra reveals a fascinating relationship between quaternions and number theory. Particularly, quaternions from classical number theory are useful tools for contemporary mathematics and engineering because they not only improve fundamental identities but also have uses in modular arithmetic, norm-based division tests, and matrix construction. Hamilton [3] was the first to introduce the concept of quaternions as:

$$H = \{p + iq + jr + ks \mid p, q, r, s \in \mathbb{R}, i^2 = j^2 = k^2 = -1, ij = -ji = k, jk = -kj = i, ki = -ik = j\}.$$

where  $i, j, k$  are the quaternionic units and are non-commutative under the multiplication rule. Quaternions are important in many areas of applied mathematics, such as computer science, physics, differential geometry, quantum physics, engineering, and the calculation of rotational motions in three dimensions. Numerous studies have looked into the relationships between quaternions and the algebra of sequences. For more detailed insights, refer to the works cited in [3–12]. Dual hyperbolic quaternions can be considered an algebraic extension of quaternions, with the properties of hyperbolic and dual numbers. Quaternions form a basis in 3D rotation and algebra, while dual hyperbolic quaternions are used in special relativity, kinematics, and theoretical physics.

The set of hyperbolic number  $\mathbb{H}$  can be expressed as [13]:

$$\mathbb{H} = \{z = q_1 + hq_2 \mid h \notin \mathbb{R}, h^2 = 1, q_1, q_2 \in \mathbb{R}\},$$

while, dual-hyperbolic numbers  $D\mathbb{H}$  can be expressed as [14]:

$$D\mathbb{H} = \{w = z_1 + \varepsilon z_2 \mid z_1, z_2 \in \mathbb{H}, j^2 = 1, \varepsilon^2 = 0, \varepsilon \neq 0, (j\varepsilon)^2 = 0\}.$$

Here  $z_1 = q_1 + q_2j$ ,  $z_2 = q_3 + q_4j$  then any dual hyperbolic number can be written as :  $w = (q_1 + q_2j) + \varepsilon(q_3 + q_4j)$  where  $j^2 = 1, \varepsilon^2 = 0, \varepsilon \neq 0, (j\varepsilon)^2 = 0$ .

Many areas of mathematics and physics have been transformed by quaternion algebra, leading to new insights and creativity. These adaptable

structures endowed researchers and practitioners with the power to gain deep insights into intricate systems and space transformations. Aydin [15] introduced the concept of dual hyperbolic Pell quaternions along with several identities related to these quaternions. Additionally, a number of researchers have conducted investigations on dual hyperbolic quaternions, and for more details, one can refer to [16, 17]. Recently, the concept of hybrid numbers was introduced by Özdemir [18], which are a combination of real, complex, dual, and hyperbolic numbers. The set of hybrid numbers  $H$  is defined as:

$$H = \{z = a + b\iota + c\varepsilon + dh; a, b, c, d \in \mathbb{R}\},$$

where  $\iota, \varepsilon, h$  are operators such that  $\iota^2 = -1, \varepsilon^2 = 0, h^2 = 1, \iota h = -h\iota = \varepsilon + \iota$ . The conjugate of a hybrid numbers  $z$  is defined as:  $\bar{z} = a + b\iota + c\varepsilon + dh = a - b\iota - c\varepsilon - dh$ . The character of hybrid number  $z$  is defined as the real number  $C(z) = z\bar{z} = \bar{z}z = a^2 + b^2 - 2bc - d^2$  and the norm of hybrid number  $z$  is defined as  $\sqrt{|C(z)|}$  and denoted by  $\|z\|$  [18]. Hybrid numbers, as an extension of these sequences, offer versatile tools that have proven valuable in diverse mathematical domains, including algebra, number theory, and geometry. Beyond theoretical mathematics, hybrid numbers and their associated sequences have found meaningful applications in fields such as linear algebra, kinematics, engineering design, and theoretical physics. Their widespread utility underscores their importance in both abstract theory and real-world problem-solving. Hybrid numbers with various sequences have earned a lot of interest in recent years [19–25]. Through a comprehensive literature review, we found no prior studies addressing dual hyperbolic Narayana and Narayana-Lucas hybrid quaternions. This gap highlights the distinctive novelty of our work.

The primary objective of this study is to introduce the concepts of hyperbolic and dual hyperbolic Narayana and Narayana-Lucas quaternions, and to associate with these structures the concept of hybrid number in order to form the respective hybrid quaternion structures. Additionally, we aim to investigate the relationships between these constructs. For these newly introduced quaternions, we also derive recurrence relations, Binet formulas, generating functions, exponential generating functions, and various significant identities.

## 2. Preliminaries

In order to address the problem in hand related to the construction of dual hyperbolic Narayana and Narayana-Lucas hybrid quaternions, here in this preliminary section we are re-calling certain definitions which will serve as a foundational framework for the subsequent analysis to be carried out and interpretation of the results.

**Definition 2.1.** The Narayana sequence  $N_n$  and Narayana-Lucas sequence  $U_n$  are defined as [25]:

For the Narayana Sequence:

$$N_{n+3} = N_{n+2} + N_n, N_0 = 0, N_1 = 1, N_2 = 1.$$

For the Narayana-Lucas Sequence:

$$U_{n+3} = U_{n+2} + U_n, U_0 = 3, U_1 = 1, U_2 = 1,$$

for  $n \geq 3$  respectively.

**Definition 2.2.** The Narayana hybrid sequence  $N_n^H$  and Narayana-Lucas hybrid sequence  $U_n^H$  are defined as [19]:

$$\begin{aligned} N_n^H &= N_n + \iota N_{n+1} + \varepsilon N_{n+2} + h N_{n+3}, \\ U_n^H &= U_n + \iota U_{n+1} + \varepsilon U_{n+2} + h U_{n+3}, \end{aligned}$$

where  $\iota, \varepsilon, h$  are operators such that  $\iota^2 = -1, \varepsilon^2 = 0, h^2 = 1, \iota h = -h\iota = \varepsilon + \iota$ .

## 3. Dual Hyperbolic Narayana and Narayana-Lucas Quaternions

In this section, we introduce the definitions of Narayana quaternions and Narayana-Lucas quaternions, as well as dual-hyperbolic Narayana and dual-hyperbolic Narayana-Lucas quaternions, by using the basic definitions as mentioned in the previous Section 2. We substantiate our discussion with theorems and provide valuable identities related to these newly introduced dual hyperbolic Narayana and dual hyperbolic Narayana-Lucas quaternions structures.

**Definition 3.1.** Let  $Z_n$  and  $T_n$  be the Narayana quaternions and Narayana-Lucas quaternions, respectively, which can be defined as:

$$\begin{aligned} Z_n &= N_n + iN_{n+1} + jN_{n+2} + kN_{n+3}, \\ T_n &= U_n + iU_{n+1} + jU_{n+2} + kU_{n+3}, \end{aligned}$$

respectively, where  $i^2 = j^2 = k^2 = -1, ij = -ji = k, jk = -kj = i, ki = -ik = j$ .

**Definition 3.2.** Let  $D\mathbb{H}Z_n$  and  $D\mathbb{H}T_n$  be the dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions, respectively, which can be defined as:

$$D\mathbb{H}Z_n = N_n + jN_{n+1} + \varepsilon(N_{n+2} + jN_{n+3}), \quad (3.1)$$

$$D\mathbb{H}T_n = U_n + jU_{n+1} + \varepsilon(U_{n+2} + jU_{n+3}), \quad (3.2)$$

where  $N_n$  denotes the  $n^{\text{th}}$  terms of Narayana sequence and  $U_n$  denotes the  $n^{\text{th}}$  terms of Narayana-Lucas sequence and  $\{j, \varepsilon, j\varepsilon\}$  denote the dual hyperbolic quaternionic units which satisfy the non commutative multiplication rules:

$$j^2 = 1, \varepsilon \neq 0, \varepsilon^2 = 0, \varepsilon.j = j.\varepsilon, (j.\varepsilon)^2 = 0 \quad (3.3)$$

The addition, subtraction, and multiplication of dual hyperbolic Narayana and Narayana-Lucas quaternions can be defined as:

$$\begin{aligned}(D\mathbb{H}Z_n \mp D\mathbb{H}T_n) &= (N_n \mp U_n) + j(N_{n+1} \mp U_{n+1}) + \varepsilon(N_{n+2} \mp U_{n+2}) + j.\varepsilon(N_{n+3} \mp U_{n+3}) \\ (D\mathbb{H}N_n \cdot D\mathbb{H}U_n) &= (N_n + jN_{n+1} + \varepsilon N_{n+2} + j.\varepsilon N_{n+3}) \cdot (U_n + jU_{n+1} + \varepsilon U_{n+2} + j.\varepsilon U_{n+3}) \\ &= (N_n U_n + N_{n+1} U_{n+1}) + j(N_n U_{n+1} + N_{n+1} U_n) + \varepsilon(N_n U_{n+3} + N_{n+1} U_{n+3} + N_{n+2} U_n + N_{n+3} U_{n+1}) \\ &\quad + j.\varepsilon(N_n U_{n+3} + N_{n+1} U_{n+2} + N_{n+2} U_{n+1} + N_{n+3} U_n)\end{aligned}$$

**Definition 3.3.** Let  $\overline{D\mathbb{H}Z_n}$  and  $\overline{D\mathbb{H}T_n}$  be the conjugates of dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions, respectively, which can be defined as:

$$\begin{aligned}\overline{D\mathbb{H}Z_n} &= N_n - jN_{n+1} - \varepsilon(N_{n+2} + jN_{n+3}), \\ \overline{D\mathbb{H}T_n} &= U_n - jU_{n+1} - \varepsilon(U_{n+2} + jU_{n+3}),\end{aligned}$$

where  $N_n$  denotes the  $n^{\text{th}}$  terms of Narayana sequence and  $U_n$  denotes the  $n^{\text{th}}$  terms of Narayana-Lucas sequence and  $\{j, \varepsilon, j\varepsilon\}$  denote the dual hyperbolic quaternionic units which satisfy the non commutative multiplication rules:

$$j^2 = 1, \varepsilon \neq 0, \varepsilon^2 = 0, \varepsilon.j = j.\varepsilon, (j.\varepsilon)^2 = 0$$

**Theorem 3.4.** Let  $D\mathbb{H}Z_n$  and  $D\mathbb{H}T_n$  be the dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions respectively. Then the recurrence relations for these quaternions hold:

$$\begin{aligned}D\mathbb{H}Z_n &= D\mathbb{H}Z_{n-1} + D\mathbb{H}Z_{n-3}, \\ D\mathbb{H}T_n &= D\mathbb{H}T_{n-1} + D\mathbb{H}T_{n-3}. \\ D\mathbb{H}Z_n + 3D\mathbb{H}Z_{n-2} &= D\mathbb{H}T_n, \\ 3D\mathbb{H}Z_{n+1} - 2D\mathbb{H}Z_n &= D\mathbb{H}T_n.\end{aligned}$$

*Proof.* From Eq. (3.1), we have

$$\begin{aligned}D\mathbb{H}Z_{n-1} + D\mathbb{H}Z_{n-3} &= N_{n-1} + jN_n + \varepsilon(N_{n+1} + jN_{n+2}) + N_{n-3} + jN_{n-2} + \varepsilon(N_{n-1} + jN_n), \\ &= (N_{n-1} + N_{n-3}) + j(N_n + N_{n-2}) + \varepsilon((N_{n+1} + N_{n-1}) + j(N_{n+2} + N_n)), \\ &= N_n + jN_{n+1} + \varepsilon(N_{n+2} + jN_{n+3}), \\ D\mathbb{H}Z_{n-1} + D\mathbb{H}Z_{n-3} &= D\mathbb{H}Z_n.\end{aligned}$$

Similarly from Eq. (3.2), we obtained that

$$D\mathbb{H}T_n = D\mathbb{H}T_{n-1} + D\mathbb{H}T_{n-3}.$$

From Eq. (3.1), we have

$$\begin{aligned}D\mathbb{H}Z_n + 3D\mathbb{H}Z_{n-2} &= N_n + jN_{n+1} + \varepsilon N_{n+2} + j\varepsilon N_{n+3} + 3(N_{n-2} + jN_{n-1} + \varepsilon N_n + j\varepsilon N_{n+1}), \\ &= (N_n + 3N_{n-2}) + j(N_{n+1} + 3N_{n-1}) + \varepsilon((N_{n+2} + 3N_n) + j(N_{n+3} + 3N_{n+1})),\end{aligned}$$

by using the identity of Narayana sequence  $U_n = N_n + 3N_{n-2}$  (see [25]) in the above equation, we obtain

$$\begin{aligned}D\mathbb{H}Z_n + 3D\mathbb{H}Z_{n-2} &= U_n + jU_{n+1} + \varepsilon U_{n+2} + j\varepsilon U_{n+3}, \\ D\mathbb{H}Z_n + 3D\mathbb{H}Z_{n-2} &= D\mathbb{H}T_n, \quad n \geq 2.\end{aligned}$$

In a similar manner, we can see that

$$\begin{aligned}3D\mathbb{H}Z_{n+1} - 2D\mathbb{H}Z_n &= 3(N_{n+1} + jN_{n+2} + \varepsilon N_{n+3} + j\varepsilon N_{n+4}) - 2(N_n + jN_{n+1} + \varepsilon N_{n+2} + j\varepsilon N_{n+3}), \\ &= (3N_{n+1} - 2N_n) + j(3N_{n+2} - 2N_{n+1}) + \varepsilon(3N_{n+3} - 2N_{n+2}) + j\varepsilon(3N_{n+4} - 2N_{n+3}),\end{aligned}$$

and by utilising the identity  $U_n = 3N_{n+1} - 2N_n$  (see [25]) in the above equation, this equation reduces to the following form

$$\begin{aligned}3D\mathbb{H}Z_{n+1} - 2D\mathbb{H}Z_n &= U_n + jU_{n+1} + \varepsilon U_{n+2} + j\varepsilon U_{n+3}, \\ 3D\mathbb{H}Z_{n+1} - 2D\mathbb{H}Z_n &= D\mathbb{H}T_n.\end{aligned}$$

□

**Theorem 3.5.** Let  $D\mathbb{H}Z_n$  and  $\overline{D\mathbb{H}Z_n}$  be dual hyperbolic Narayana quaternions and conjugate of  $D\mathbb{H}Z_n$  respectively, then the following relations hold:

$$\begin{aligned}D\mathbb{H}Z_n \overline{D\mathbb{H}Z_n} &= N_n^2 + N_{n+1}^2 - N_{n+2}^2 - N_{n+3}^2, \\ D\mathbb{H}Z_n + \overline{D\mathbb{H}Z_n} &= 2N_n, \\ D\mathbb{H}Z_n^2 &= 2D\mathbb{H}Z_n N_n - D\mathbb{H}Z_n \overline{D\mathbb{H}Z_n}.\end{aligned}$$

*Proof.* From Eq. (3.1) and using conditions (3.3), we have

$$\begin{aligned} D\mathbb{H}Z_n \overline{D\mathbb{H}Z_n} &= (N_n + jN_{n+1} + \varepsilon N_{n+2} + j\varepsilon N_{n+3})(N_n - jN_{n+1} - \varepsilon N_{n+2} - j\varepsilon N_{n+3}), \\ D\mathbb{H}Z_n \overline{D\mathbb{H}Z_n} &= N_n^2 + N_{n+1}^2 - N_{n+2}^2 - N_{n+3}^2. \end{aligned}$$

In a similar manner, we can see that

$$\begin{aligned} D\mathbb{H}Z_n + \overline{D\mathbb{H}Z_n} &= (N_n + jN_{n+1} + \varepsilon N_{n+2} + j\varepsilon N_{n+3}) + (N_n - jN_{n+1} - \varepsilon N_{n+2} - j\varepsilon N_{n+3}), \\ D\mathbb{H}Z_n + \overline{D\mathbb{H}Z_n} &= 2N_n. \end{aligned} \quad (3.4)$$

From Eq. (3.4), it follows that

$$D\mathbb{H}Z_n^2 = D\mathbb{H}Z_n D\mathbb{H}Z_n = D\mathbb{H}Z_n (2N_n - \overline{D\mathbb{H}Z_n}) = 2D\mathbb{H}Z_n N_n - D\mathbb{H}Z_n \overline{D\mathbb{H}Z_n}.$$

□

**Theorem 3.6.** Let  $D\mathbb{H}Z_n$  and  $D\mathbb{H}T_n$  be the dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions, respectively. Then the Binet formulas can be written as:

$$\begin{aligned} D\mathbb{H}Z_n &= \frac{\mu^a \mu^{n+1}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^{n+1}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^{n+1}}{(\lambda - \mu)(\lambda - v)}, \\ D\mathbb{H}T_n &= \mu^a \mu^n + v^a v^n + \lambda^a \lambda^n, \end{aligned}$$

where  $\mu^a = (1 + j\mu + \varepsilon\mu^2 + j \cdot \varepsilon\mu^3)$ ,  $v^a = (1 + jv + \varepsilon v^2 + j \cdot \varepsilon v^3)$ ,  $\lambda^a = (1 + j\lambda + \varepsilon\lambda^2 + j \cdot \varepsilon\lambda^3)$ .

*Proof.* Let  $D\mathbb{H}Z_n$  be the dual hyperbolic Narayana quaternions. From Eq. (3.1), we have

$$D\mathbb{H}Z_n = N_n + jN_{n+1} + \varepsilon N_{n+2} + j \cdot \varepsilon N_{n+3}.$$

Therefore, by using the Binet formulas for the Narayana sequence (see [25]) in the above relation we have,

$$\begin{aligned} D\mathbb{H}Z_n &= \left( \frac{\mu^{n+1}}{(\mu - v)(\mu - \lambda)} + \frac{v^{n+1}}{(v - \mu)(v - \lambda)} + \frac{\lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} \right) + j \left( \frac{\mu^{n+2}}{(\mu - v)(\mu - \lambda)} + \frac{v^{n+2}}{(v - \mu)(v - \lambda)} + \frac{\lambda^{n+2}}{(\lambda - \mu)(\lambda - v)} \right) \\ &\quad + \varepsilon \left( \frac{\mu^{n+3}}{(\mu - v)(\mu - \lambda)} + \frac{v^{n+3}}{(v - \mu)(v - \lambda)} + \frac{\lambda^{n+3}}{(\lambda - \mu)(\lambda - v)} \right) + j \cdot \varepsilon \left( \frac{\mu^{n+4}}{(\mu - v)(\mu - \lambda)} + \frac{v^{n+4}}{(v - \mu)(v - \lambda)} + \frac{\lambda^{n+4}}{(\lambda - \mu)(\lambda - v)} \right), \\ &= \frac{\mu^{n+1}}{(\mu - v)(\mu - \lambda)} (1 + j\mu + \varepsilon\mu^2 + j \cdot \varepsilon\mu^3) + \frac{v^{n+1}}{(v - \mu)(v - \lambda)} (1 + jv + \varepsilon v^2 + j \cdot \varepsilon v^3) + \frac{\lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} (1 + j\lambda + \varepsilon\lambda^2 + j \cdot \varepsilon\lambda^3), \\ D\mathbb{H}Z_n &= \frac{\mu^{n+1}}{(\mu - v)(\mu - \lambda)} \mu^a + \frac{v^{n+1}}{(v - \mu)(v - \lambda)} v^a + \frac{\lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} \lambda^a. \end{aligned} \quad (3.5)$$

Moreover, from Eq. (3.2) we have

$$D\mathbb{H}T_n = U_n + jU_{n+1} + \varepsilon U_{n+2} + j \cdot \varepsilon U_{n+3}.$$

Again, by using the Binet formulas for the Narayana-Lucas sequence (see [25]) in the above relation we have,

$$\begin{aligned} D\mathbb{H}T_n &= \mu^n + v^n + \lambda^n + j(\mu^{n+1} + v^{n+1} + \lambda^{n+1}) + \varepsilon(\mu^{n+2} + v^{n+2} + \lambda^{n+2}) \\ &\quad + j \cdot \varepsilon(\mu^{n+3} + v^{n+3} + \lambda^{n+3}), \\ &= \mu^n (1 + j\mu + \varepsilon\mu^2 + j \cdot \varepsilon\mu^3) + v^n (1 + jv + \varepsilon v^2 + j \cdot \varepsilon v^3) + \lambda^n (1 + j\lambda + \varepsilon\lambda^2 + j \cdot \varepsilon\lambda^3), \\ D\mathbb{H}T_n &= \mu^a \mu^n + v^a v^n + \lambda^a \lambda^n. \end{aligned} \quad (3.6)$$

□

**Theorem 3.7.** Let  $D\mathbb{H}Z_n$  and  $D\mathbb{H}T_n$  be the dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions, respectively. Then the generating functions can be written as:

$$\begin{aligned} G(t) &= \sum_{n=0}^{\infty} D\mathbb{H}Z_n(r) t^n = \frac{D\mathbb{H}Z_0(r) + t(D\mathbb{H}Z_1(r) - D\mathbb{H}Z_0(r)) + t^2(D\mathbb{H}Z_2(r) - D\mathbb{H}Z_1(r))}{1 - rt - t^3}, \\ G(t) &= \sum_{n=0}^{\infty} D\mathbb{H}T_n(r) t^n = \frac{D\mathbb{H}T_0(r) + t(D\mathbb{H}T_1(r) - D\mathbb{H}T_0(r)) + t^2(D\mathbb{H}T_2(r) - D\mathbb{H}T_1(r))}{1 - rt - t^3}. \end{aligned}$$

*Proof.* Let us consider the following formal power series to be the generating function for the dual hyperbolic Narayana quaternions as:

$$G(t) = \sum_{n=0}^{\infty} D\mathbb{H}Z_n(r)t^n = D\mathbb{H}Z_0(r) + D\mathbb{H}Z_1(r)t + D\mathbb{H}Z_2(r)t^2 + \dots$$

Then we have

$$\begin{aligned} rtG(t) &= rD\mathbb{H}Z_0(r)t + rD\mathbb{H}Z_1(r)t^2 + rD\mathbb{H}Z_2(r)t^3 + \dots, \\ t^3G(t) &= D\mathbb{H}Z_0(r)t^3 + D\mathbb{H}Z_1(r)t^4 + D\mathbb{H}Z_2(r)t^5 + \dots \end{aligned}$$

Thus, we obtain

$$\begin{aligned} G(t) - rtG(t) - t^3G(t) &= (D\mathbb{H}Z_0(r) + D\mathbb{H}Z_1(r)t + D\mathbb{H}Z_2(r)t^2 + \dots) - (rD\mathbb{H}Z_0(r)t + rD\mathbb{H}Z_1(r)t^2 + rD\mathbb{H}Z_2(r)t^3 + \dots) \\ &\quad - (D\mathbb{H}Z_0(r)t^3 + D\mathbb{H}Z_1(r)t^4 + D\mathbb{H}Z_2(r)t^5 + \dots). \end{aligned}$$

From the above relation, we further deduce that

$$G(t)(1 - rt - t^3) = D\mathbb{H}Z_0(r) + (D\mathbb{H}Z_1(r) - rD\mathbb{H}Z_0(r))t + (D\mathbb{H}Z_2(r) - rD\mathbb{H}Z_1(r))t^2,$$

$$G(t) = \frac{D\mathbb{H}Z_0(r) + t(D\mathbb{H}Z_1(r) - rD\mathbb{H}Z_0(r)) + t^2(D\mathbb{H}Z_2(r) - rD\mathbb{H}Z_1(r))}{(1 - rt - t^3)},$$

$$G(t) = \sum_{n=0}^{\infty} D\mathbb{H}Z_n(r)t^n = \frac{D\mathbb{H}Z_0(r) + t(D\mathbb{H}Z_1(r) - rD\mathbb{H}Z_0(r)) + t^2(D\mathbb{H}Z_2(r) - rD\mathbb{H}Z_1(r))}{(1 - rt - t^3)}.$$

Thus, the proof is completed for the dual hyperbolic Narayana quaternions.

In a similar manner, we can also prove the following generating function for dual hyperbolic Narayana-Lucas quaternions as:

$$G(t) = \sum_{n=0}^{\infty} D\mathbb{H}T_n(r)t^n = \frac{D\mathbb{H}T_0(r) + t(D\mathbb{H}T_1(r) - D\mathbb{H}T_0(r)) + t^2(D\mathbb{H}T_2(r) - D\mathbb{H}T_1(r))}{1 - rt - t^3}.$$

□

**Theorem 3.8.** Let  $D\mathbb{H}Z_n$  and  $D\mathbb{H}T_n$  be the dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions, respectively. Then the exponential generating functions can be written as:

$$\begin{aligned} \sum_{n=0}^{\infty} D\mathbb{H}Z_n(r) \frac{t^n}{n!} &= \frac{\mu^a \mu}{(\mu - v)(\mu - \lambda)} e^{\mu t} + \frac{v^a v}{(v - \mu)(v - \lambda)} e^{vt} + \frac{\lambda^a \lambda}{(\lambda - \mu)(\lambda - v)} e^{\lambda t}, \\ \sum_{n=0}^{\infty} D\mathbb{H}T_n(r) \frac{t^n}{n!} &= \mu^a \mu e^{\mu t} + v^a v e^{vt} + \lambda^a \lambda e^{\lambda t}, \end{aligned}$$

where  $\mu^a = (1 + j\mu + \varepsilon\mu^2 + j \cdot \varepsilon\mu^3)$ ,  $v^a = (1 + jv + \varepsilon v^2 + j \cdot \varepsilon v^3)$ ,  $\lambda^a = (1 + j\lambda + \varepsilon\lambda^2 + j \cdot \varepsilon\lambda^3)$ .

*Proof.* By using the definition of exponential generating functions and Binet formulas for the dual hyperbolic Narayana quaternions (see (3.5)), we obtained as:

$$\begin{aligned} \sum_{n=0}^{\infty} D\mathbb{H}Z_n(r) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \left[ \frac{\mu^a \mu^{n+1}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^{n+1}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} \right] \frac{t^n}{n!}, \\ &= \frac{\mu^a \mu}{(\mu - v)(\mu - \lambda)} \sum_{n=0}^{\infty} \frac{(\mu t)^n}{n!} + \frac{v^a v}{(v - \mu)(v - \lambda)} \sum_{n=0}^{\infty} \frac{(vt)^n}{n!} + \frac{\lambda^a \lambda}{(\lambda - \mu)(\lambda - v)} \sum_{n=0}^{\infty} \frac{(\lambda t)^n}{n!}, \\ \sum_{n=0}^{\infty} D\mathbb{H}Z_n(r) \frac{t^n}{n!} &= \frac{\mu^a \mu}{(\mu - v)(\mu - \lambda)} e^{\mu t} + \frac{v^a v}{(v - \mu)(v - \lambda)} e^{vt} + \frac{\lambda^a \lambda}{(\lambda - \mu)(\lambda - v)} e^{\lambda t}. \end{aligned}$$

Thus, the proof is completed for the exponential generating function for the dual hyperbolic Narayana quaternions.

In a similar manner, we can also prove the following exponential generating function for dual hyperbolic Narayana-Lucas quaternions (see (3.6)), we obtained as:

$$\sum_{n=0}^{\infty} D\mathbb{H}T_n(r) \frac{t^n}{n!} = \mu^a \mu e^{\mu t} + v^a v e^{vt} + \lambda^a \lambda e^{\lambda t}.$$

□

#### 4. Dual Hyperbolic Narayana and Narayana-Lucas Hybrid Quaternions

In this section, we extend the dual hyperbolic Narayana and dual hyperbolic Narayana-Lucas quaternion structures (as discussed in section 3) in the context of hybrid quaternions. Additionally, we have presented certain theorems along with their proofs, and identities associated with these newly introduced hybrid quaternions.

**Definition 4.1.** Let the  $n^{\text{th}}$  dual hyperbolic Narayana hybrid quaternions be  $D\mathbb{H}Z_n^H$  and can be defined as:

$$\begin{aligned} D\mathbb{H}Z_n^H &= N_n^H + jN_{n+1}^H + \varepsilon N_{n+2}^H + j.\varepsilon N_{n+3}^H, \\ &= (N_n + \iota N_{n+1} + \varepsilon N_{n+2} + hN_{n+3}) + j(N_{n+1} + \iota N_{n+2} + \varepsilon N_{n+3} + hN_{n+4}) + \varepsilon(N_{n+2} + \iota N_{n+3} + \varepsilon N_{n+4} + hN_{n+5}) \\ &\quad + j.\varepsilon(N_{n+3} + \iota N_{n+4} + \varepsilon N_{n+5} + hN_{n+6}), \end{aligned}$$

where  $\{\iota, \varepsilon, h\}$  are operators and  $\{j, \varepsilon, j.\varepsilon\}$  are dual hyperbolic quaternionic units.

$$D\mathbb{H}Z_n^H = D\mathbb{H}Z_n + \iota D\mathbb{H}Z_{n+1} + \varepsilon D\mathbb{H}Z_{n+2} + hD\mathbb{H}Z_{n+3}. \quad (4.1)$$

**Definition 4.2.** Let the  $n^{\text{th}}$  dual hyperbolic Narayana-Lucas hybrid quaternions be  $D\mathbb{H}T_n^H$  and can be defined as:

$$\begin{aligned} D\mathbb{H}T_n^H &= U_n^H + jU_{n+1}^H + \varepsilon U_{n+2}^H + j.\varepsilon U_{n+3}^H, \\ &= (U_n + \iota U_{n+1} + \varepsilon U_{n+2} + hU_{n+3}) + j(U_{n+1} + \iota U_{n+2} + \varepsilon U_{n+3} + hU_{n+4}) + \varepsilon(U_{n+2} + \iota U_{n+3} + \varepsilon U_{n+4} + hU_{n+5}) \\ &\quad + j.\varepsilon(U_{n+3} + \iota U_{n+4} + \varepsilon U_{n+5} + hU_{n+6}), \end{aligned}$$

where  $\{\iota, \varepsilon, h\}$  are operators and  $\{j, \varepsilon, j.\varepsilon\}$  are dual hyperbolic quaternionic units.

$$D\mathbb{H}T_n^H = D\mathbb{H}T_n + \iota D\mathbb{H}T_{n+1} + \varepsilon D\mathbb{H}T_{n+2} + hD\mathbb{H}T_{n+3}. \quad (4.2)$$

**Lemma 4.3.** Let  $D\mathbb{H}Z_n^H$  and  $D\mathbb{H}T_n^H$  be the dual hyperbolic Narayana hybrid quaternions and dual hyperbolic Narayana-Lucas hybrid quaternions, respectively. Then the recurrence relation for these quaternions holds:

$$\begin{aligned} D\mathbb{H}Z_n^H &= D\mathbb{H}Z_{n-1}^H + D\mathbb{H}Z_{n-3}^H, \\ D\mathbb{H}T_n^H &= D\mathbb{H}T_{n-1}^H + D\mathbb{H}T_{n-3}^H. \end{aligned}$$

*Proof.* From Eq. (4.1), we have

$$\begin{aligned} D\mathbb{H}Z_{n-1}^H + D\mathbb{H}Z_{n-3}^H &= D\mathbb{H}Z_{n-1} + \iota D\mathbb{H}Z_n + \varepsilon D\mathbb{H}Z_{n+1} + hD\mathbb{H}Z_{n+2} + (D\mathbb{H}Z_{n-3} + \iota D\mathbb{H}Z_{n-2} + \varepsilon D\mathbb{H}Z_{n-1} + hD\mathbb{H}Z_n), \\ &= (D\mathbb{H}Z_{n-1} + D\mathbb{H}Z_{n-3}) + \iota(D\mathbb{H}Z_n + D\mathbb{H}Z_{n-2}) + \varepsilon(D\mathbb{H}Z_{n+1} + D\mathbb{H}Z_{n-1}) + h(D\mathbb{H}Z_{n+2} + D\mathbb{H}Z_n), \\ &= D\mathbb{H}Z_n + \iota D\mathbb{H}Z_{n+1} + \varepsilon D\mathbb{H}Z_{n+2} + hD\mathbb{H}Z_{n+3}, \\ D\mathbb{H}Z_{n-1}^H + D\mathbb{H}Z_{n-3}^H &= D\mathbb{H}Z_n^H. \end{aligned}$$

Similarly, from Eq. (4.2), we obtain

$$D\mathbb{H}T_n^H = D\mathbb{H}T_{n-1}^H + D\mathbb{H}T_{n-3}^H.$$

□

**Theorem 4.4.** Let  $D\mathbb{H}Z_n^H$  and  $D\mathbb{H}T_n^H$  be the dual hyperbolic Narayana hybrid quaternions and dual hyperbolic Narayana-Lucas hybrid quaternions, respectively. Then the Binet formulas for these quaternions can be written as:

$$\begin{aligned} D\mathbb{H}Z_n^H &= \frac{\mu^a \mu^b \mu^{n+1}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^b v^{n+1}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^b \lambda^{n+1}}{(\lambda - \mu)(\lambda - v)}, \\ D\mathbb{H}T_n^H &= \mu^a \mu^b \mu^n + v^a v^b v^n + \lambda^a \lambda^b \lambda^n, \end{aligned}$$

where  $\mu^a = (1 + j\mu + \varepsilon\mu^2 + j.\varepsilon\mu^3)$ ,  $v^a = (1 + jv + \varepsilon v^2 + j.\varepsilon v^3)$ ,  $\lambda^a = (1 + j\lambda + \varepsilon\lambda^2 + j.\varepsilon\lambda^3)$ ,  $\mu^b = (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3)$ ,  $v^b = (1 + \iota v + \varepsilon v^2 + hv^3)$ ,  $\lambda^b = (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3)$ .

*Proof.* Let  $D\mathbb{H}Z_n^H$  be the dual hyperbolic Narayana hybrid quaternions. From Eq. (4.1), we have

$$D\mathbb{H}Z_n^H = D\mathbb{H}Z_n + \iota D\mathbb{H}Z_{n+1} + \varepsilon D\mathbb{H}Z_{n+2} + hD\mathbb{H}Z_{n+3}.$$

Therefore, utilising Eq. (3.5) in above relation for each term, we have

$$\begin{aligned} D\mathbb{H}Z_n^H &= \left( \frac{\mu^a \mu^{n+1}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^{n+1}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} \right) + \iota \left( \frac{\mu^a \mu^{n+2}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^{n+2}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^{n+2}}{(\lambda - \mu)(\lambda - v)} \right) \\ &\quad + \varepsilon \left( \frac{\mu^a \mu^{n+3}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^{n+3}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^{n+3}}{(\lambda - \mu)(\lambda - v)} \right) + h \left( \frac{\mu^a \mu^{n+4}}{(\mu - v)(\mu - \lambda)} + \frac{v^a v^{n+4}}{(v - \mu)(v - \lambda)} + \frac{\lambda^a \lambda^{n+4}}{(\lambda - \mu)(\lambda - v)} \right), \\ &= \frac{\mu^a \mu^{n+1}}{(\mu - v)(\mu - \lambda)} (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3) + \frac{v^a v^{n+1}}{(v - \mu)(v - \lambda)} (1 + \iota v + \varepsilon v^2 + hv^3) \\ &\quad + \frac{\lambda^a \lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3), \end{aligned}$$

$$D\mathbb{H}Z_n^H = \frac{\mu^a \mu^{n+1}}{(\mu - v)(\mu - \lambda)} \mu^b + \frac{v^a v^{n+1}}{(v - \mu)(v - \lambda)} v^b + \frac{\lambda^a \lambda^{n+1}}{(\lambda - \mu)(\lambda - v)} \lambda^b,$$

where  $\mu^b = (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3)$ ,  $v^b = (1 + \iota v + \varepsilon v^2 + hv^3)$ ,  $\lambda^b = (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3)$ .

Moreover, from Eq. (4.2), we have

$$D\mathbb{H}T_n^H = D\mathbb{H}T_n + \iota D\mathbb{H}T_{n+1} + \varepsilon D\mathbb{H}T_{n+2} + h D\mathbb{H}T_{n+3}.$$

Therefore, utilising Eq. (3.6) in the above relation for each term, we have

$$\begin{aligned} D\mathbb{H}T_n^H &= (\mu^a \mu^n + v^a v^n + \lambda^a \lambda^n) + \iota(\mu^a \mu^{n+1} + v^a v^{n+1} + \lambda^a \lambda^{n+1}) + \varepsilon(\mu^a \mu^{n+2} + v^a v^{n+2} + \lambda^a \lambda^{n+2}) \\ &\quad + h(\mu^a \mu^{n+3} + v^a v^{n+3} + \lambda^a \lambda^{n+3}), \\ &= \mu^a \mu^n (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3) + v^a v^n (1 + \iota v + \varepsilon v^2 + hv^3) + \lambda^a \lambda^n (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3), \\ D\mathbb{H}T_n^H &= \mu^a \mu^n \mu^b + v^a v^n v^b + \lambda^a \lambda^n \lambda^b. \end{aligned}$$

□

**Theorem 4.5.** Let  $D\mathbb{H}Z_n^H$  and  $D\mathbb{H}T_n^H$  be the dual hyperbolic Narayana hybrid quaternions and dual hyperbolic Narayana-Lucas hybrid quaternions, respectively. Then the generating functions for these quaternions can be written as:

$$\begin{aligned} G(t) &= \sum_{n=0}^{\infty} D\mathbb{H}Z_n^H(r) t^n = \frac{D\mathbb{H}Z_0^H(r) + t(D\mathbb{H}Z_1^H(r) - D\mathbb{H}Z_0^H(r)) + t^2(D\mathbb{H}Z_2^H(r) - D\mathbb{H}Z_1^H(r))}{(1 - rt - t^3)}, \\ G(t) &= \sum_{n=0}^{\infty} D\mathbb{H}T_n^H(r) t^n = \frac{D\mathbb{H}T_0^H(r) + t(D\mathbb{H}T_1^H(r) - D\mathbb{H}T_0^H(r)) + t^2(D\mathbb{H}T_2^H(r) - D\mathbb{H}T_1^H(r))}{(1 - rt - t^3)}. \end{aligned}$$

*Proof.* Let us consider the following formal power series to be the generating function for the hyperbolic Narayana hybrid quaternions as:

$$G(t) = \sum_{n=0}^{\infty} D\mathbb{H}Z_n^H(r) t^n = D\mathbb{H}Z_0^H(r) + D\mathbb{H}Z_1^H(r)t + D\mathbb{H}Z_2^H(r)t^2 + \dots$$

Then, we have

$$\begin{aligned} rtG(t) &= rD\mathbb{H}Z_0^H(r)t + rD\mathbb{H}Z_1^H(r)t^2 + rD\mathbb{H}Z_2^H(r)t^3 + \dots, \\ t^3G(t) &= D\mathbb{H}Z_0^H(r)t^3 + D\mathbb{H}Z_1^H(r)t^4 + D\mathbb{H}Z_2^H(r)t^5 + \dots \end{aligned}$$

Thus, we obtain

$$\begin{aligned} G(t) - rtG(t) - t^3G(t) &= (D\mathbb{H}Z_0^H(r) + D\mathbb{H}Z_1^H(r)t + D\mathbb{H}Z_2^H(r)t^2 + \dots) - (rD\mathbb{H}Z_0^H(r)t + rD\mathbb{H}Z_1^H(r)t^2 + rD\mathbb{H}Z_2^H(r)t^3 + \dots) \\ &\quad - (D\mathbb{H}Z_0^H(r)t^3 + D\mathbb{H}Z_1^H(r)t^4 + D\mathbb{H}Z_2^H(r)t^5 + \dots). \end{aligned}$$

From the above relation we further deduce that

$$G(t)(1 - rt - t^3) = D\mathbb{H}Z_0^H(r) + t(D\mathbb{H}Z_1^H(r) - rD\mathbb{H}Z_0^H(r)) + t^2(D\mathbb{H}Z_2^H(r) - rD\mathbb{H}Z_1^H(r)).$$

Therefore, we have

$$\begin{aligned} G(t) &= \frac{D\mathbb{H}Z_0^H(r) + t(D\mathbb{H}Z_1^H(r) - rD\mathbb{H}Z_0^H(r)) + t^2(D\mathbb{H}Z_2^H(r) - rD\mathbb{H}Z_1^H(r))}{(1 - rt - t^3)}, \\ G(t) &= \sum_{n=0}^{\infty} D\mathbb{H}Z_n^H(r) t^n \\ &= \frac{D\mathbb{H}Z_0^H(r) + t(D\mathbb{H}Z_1^H(r) - rD\mathbb{H}Z_0^H(r)) + t^2(D\mathbb{H}Z_2^H(r) - rD\mathbb{H}Z_1^H(r))}{(1 - rt - t^3)}. \end{aligned}$$

Thus, the proof is completed for the generating functions for dual hyperbolic Narayana hybrid quaternions.

In a similar manner, we can also prove the following generating function for dual hyperbolic Narayana-Lucas hybrid quaternions as:

$$G(t) = \sum_{n=0}^{\infty} D\mathbb{H}T_n^H(r) t^n = \frac{D\mathbb{H}T_0^H(r) + t(D\mathbb{H}T_1^H(r) - D\mathbb{H}T_0^H(r)) + t^2(D\mathbb{H}T_2^H(r) - D\mathbb{H}T_1^H(r))}{(1 - rt - t^3)}.$$

□

**Theorem 4.6.** Let  $D\mathbb{H}Z_n^H$  and  $D\mathbb{H}T_n^H$  be the dual hyperbolic Narayana hybrid quaternions and dual hyperbolic Narayana-Lucas hybrid quaternions, respectively. Then the exponential generating functions for these quaternions can be written as:

$$\begin{aligned} \sum_{n=0}^{\infty} D\mathbb{H}Z_n^H(r) \frac{t^n}{n!} &= \frac{\mu^a \mu}{(\mu - v)(\mu - \lambda)} \mu^b e^{\mu t} + \frac{v^a v}{(v - \mu)(v - \lambda)} v^b e^{v t} + \frac{\lambda^a \lambda}{(\lambda - \mu)(\lambda - v)} \lambda^b e^{\lambda t}, \\ \sum_{n=0}^{\infty} D\mathbb{H}T_n^H(r) \frac{t^n}{n!} &= \mu^a \mu^b e^{\mu t} + v^a v^b e^{v t} + \lambda^a \lambda^b e^{\lambda t}, \end{aligned}$$

where  $\mu^a = (1 + j\mu + \varepsilon\mu^2 + j \cdot \varepsilon\mu^3)$ ,  $v^a = (1 + jv + \varepsilon v^2 + j \cdot \varepsilon v^3)$ ,  $\lambda^a = (1 + j\lambda + \varepsilon\lambda^2 + j \cdot \varepsilon\lambda^3)$ ,  $\mu^b = (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3)$ ,  $v^b = (1 + \iota v + \varepsilon v^2 + hv^3)$ ,  $\lambda^b = (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3)$ .

*Proof.* By using the Binet formulas for the dual hyperbolic Narayana and Narayana-Lucas hybrid quaternions from Theorem 4.4, we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} D\mathbb{H}Z_n^H(r) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \left[ \frac{\mu^a \mu^{n+1}}{(\mu-v)(\mu-\lambda)} (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3) + \frac{v^a v^{n+1}}{(v-\mu)(v-\lambda)} (1 + \iota v + \varepsilon v^2 + h v^3) \right. \\ &\quad \left. + \frac{\lambda^a \lambda^{n+1}}{(\lambda-\mu)(\lambda-v)} (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3) \right] \frac{t^n}{n!}, \\ &= \frac{\mu^a \mu}{(\mu-v)(\mu-\lambda)} (1 + \iota\mu + \varepsilon\mu^2 + h\mu^3) \sum_{n=0}^{\infty} \frac{(\mu t)^n}{n!} + \frac{v^a v}{(v-\mu)(v-\lambda)} (1 + \iota v + \varepsilon v^2 + h v^3) \sum_{n=0}^{\infty} \frac{(v t)^n}{n!} \\ &\quad + \frac{\lambda^a \lambda}{(\lambda-\mu)(\lambda-v)} (1 + \iota\lambda + \varepsilon\lambda^2 + h\lambda^3) \sum_{n=0}^{\infty} \frac{(\lambda t)^n}{n!}, \\ \sum_{n=0}^{\infty} D\mathbb{H}Z_n^H(r) \frac{t^n}{n!} &= \frac{\mu^a \mu}{(\mu-v)(\mu-\lambda)} \mu^b e^{\mu t} + \frac{v^a v}{(v-\mu)(v-\lambda)} v^b e^{v t} + \frac{\lambda^a \lambda}{(\lambda-\mu)(\lambda-v)} \lambda^b e^{\lambda t}. \end{aligned}$$

Thus, the proof is completed for the exponential generating function for the dual hyperbolic Narayana hybrid quaternions.

In a similar manner, we can also prove the exponential generating function for dual hyperbolic Narayana-Lucas hybrid quaternions, we have

$$\sum_{n=0}^{\infty} D\mathbb{H}T_n^H(r) \frac{t^n}{n!} = \mu^a \mu^b e^{\mu t} + v^a v^b e^{v t} + \lambda^a \lambda^b e^{\lambda t}.$$

□

**Theorem 4.7.** Let  $m$  and  $n$  be any positive integers and  $m \geq n$ , then the following relations hold as:

$$\begin{aligned} &D\mathbb{H}Z_m^H D\mathbb{H}T_n^H + D\mathbb{H}T_m^H D\mathbb{H}Z_n^H \\ &= \frac{(\lambda^a \lambda^b \lambda^n + \mu^a \mu^b \mu^n + \lambda^a \lambda^b \lambda^n) (\lambda^a \lambda^b \lambda^{1+m} (\mu-v) + (\lambda-\mu) v^{1+m} v^a v^b + (-\lambda+v) (\mu^{1+m} \mu^a \mu^b))}{(\lambda-\mu)(\lambda-v)(\mu-v)} \\ &\quad + \frac{(\lambda^a \lambda^b \lambda^m + \mu^a \mu^b \mu^m + v^a v^b v^m) (\lambda^a \lambda^b \lambda^{1+n} (\mu-v) + (\lambda-\mu) v^{1+n} v^a v^b + \mu^{1+n} \mu^a \mu^b (-\lambda+v))}{(\lambda-\mu)(\lambda-v)(\mu-v)}, \\ &D\mathbb{H}Z_m^H D\mathbb{H}T_n^H - D\mathbb{H}T_m^H D\mathbb{H}Z_n^H \\ &= \frac{(\lambda^a \lambda^b \lambda^n + \mu^a \mu^b \mu^n + v^a v^b v^n) (\lambda^a \lambda^b \lambda^{1+m} (\mu-v) + (\lambda-\mu) v^{1+m} v^a v^b + (-\lambda+v) (\mu^{1+m} \mu^a \mu^b))}{(\lambda-\mu)(\lambda-v)(\mu-v)} \\ &\quad - \frac{(\lambda^a \lambda^b \lambda^m + \mu^a \mu^b \mu^m + v^a v^b v^m) (\lambda^a \lambda^b \lambda^{1+n} (\mu-v) + (\lambda-\mu) v^{1+n} v^a v^b + \mu^{1+n} \mu^a \mu^b (-\lambda+v))}{(\lambda-\mu)(\lambda-v)(\mu-v)}. \end{aligned}$$

*Proof.* By using the Binet formulas from Theorem 4.4, we obtain

$$\begin{aligned} &D\mathbb{H}Z_m^H D\mathbb{H}T_n^H + D\mathbb{H}T_m^H D\mathbb{H}Z_n^H \\ &= \left( \frac{\mu^a \mu^b \mu^{m+1}}{(\mu-v)(\mu-\lambda)} + \frac{v^a v^b v^{m+1}}{(v-\mu)(v-\lambda)} + \frac{\lambda^a \lambda^b \lambda^{m+1}}{(\lambda-\mu)(\lambda-v)} \right) (\mu^a \mu^b \mu^n + v^a v^b v^n + \lambda^a \lambda^b \lambda^n) \\ &\quad + (\mu^a \mu^b \mu^m + v^a v^b v^m + \lambda^a \lambda^b \lambda^m) \left( \frac{\mu^a \mu^b \mu^{n+1}}{(\mu-v)(\mu-\lambda)} + \frac{v^a v^b v^{n+1}}{(v-\mu)(v-\lambda)} + \frac{\lambda^a \lambda^b \lambda^{n+1}}{(\lambda-\mu)(\lambda-v)} \right), \\ &D\mathbb{H}Z_m^H D\mathbb{H}T_n^H - D\mathbb{H}T_m^H D\mathbb{H}Z_n^H \\ &= \frac{(\lambda^a \lambda^b \lambda^n + \mu^a \mu^b \mu^n + \lambda^a \lambda^b \lambda^n) (\lambda^a \lambda^b \lambda^{1+m} (\mu-v) + (\lambda-\mu) v^{1+m} v^a v^b + (-\lambda+v) (\mu^{1+m} \mu^a \mu^b))}{(\lambda-\mu)(\lambda-v)(\mu-v)} \\ &\quad + \frac{(\lambda^a \lambda^b \lambda^m + \mu^a \mu^b \mu^m + v^a v^b v^m) (\lambda^a \lambda^b \lambda^{1+n} (\mu-v) + (\lambda-\mu) v^{1+n} v^a v^b + \mu^{1+n} \mu^a \mu^b (-\lambda+v))}{(\lambda-\mu)(\lambda-v)(\mu-v)}. \end{aligned}$$

Similarly, we have

$$\begin{aligned} &D\mathbb{H}Z_m^H D\mathbb{H}T_n^H - D\mathbb{H}T_m^H D\mathbb{H}Z_n^H \\ &= \left( \frac{\mu^a \mu^b \mu^{m+1}}{(\mu-v)(\mu-\lambda)} + \frac{v^a v^b v^{m+1}}{(v-\mu)(v-\lambda)} + \frac{\lambda^a \lambda^b \lambda^{m+1}}{(\lambda-\mu)(\lambda-v)} \right) (\mu^a \mu^b \mu^n + v^a v^b v^n + \lambda^a \lambda^b \lambda^n) \\ &\quad - (\mu^a \mu^b \mu^m + v^a v^b v^m + \lambda^a \lambda^b \lambda^m) \left( \frac{\mu^a \mu^b \mu^{n+1}}{(\mu-v)(\mu-\lambda)} + \frac{v^a v^b v^{n+1}}{(v-\mu)(v-\lambda)} + \frac{\lambda^a \lambda^b \lambda^{n+1}}{(\lambda-\mu)(\lambda-v)} \right), \\ &D\mathbb{H}Z_m^H D\mathbb{H}T_n^H - D\mathbb{H}T_m^H D\mathbb{H}Z_n^H \\ &= \frac{(\lambda^a \lambda^b \lambda^n + \mu^a \mu^b \mu^n + v^a v^b v^n) (\lambda^a \lambda^b \lambda^{1+m} (\mu-v) + (\lambda-\mu) v^{1+m} v^a v^b + (-\lambda+v) (\mu^{1+m} \mu^a \mu^b))}{(\lambda-\mu)(\lambda-v)(\mu-v)} \\ &\quad - \frac{(\lambda^a \lambda^b \lambda^m + \mu^a \mu^b \mu^m + v^a v^b v^m) (\lambda^a \lambda^b \lambda^{1+n} (\mu-v) + (\lambda-\mu) v^{1+n} v^a v^b + \mu^{1+n} \mu^a \mu^b (-\lambda+v))}{(\lambda-\mu)(\lambda-v)(\mu-v)}. \end{aligned}$$



□

**Theorem 4.8.** (Catalan's identities) Let  $D\mathbb{H}Z_n^H$  and  $D\mathbb{H}T_n^H$  be the dual hyperbolic Narayana hybrid quaternions and dual hyperbolic Narayana-Lucas hybrid quaternions, respectively. Therefore, for  $n \geq 1$ , we have

$$\begin{aligned}
 & D\mathbb{H}Z_{n+r}^H D\mathbb{H}Z_{n-r}^H - (D\mathbb{H}Z_n^H)^2 \\
 &= \lambda^{-r} \mu^{-r} \nu^{-r} \frac{(-2\lambda^{1+n+r} \lambda^a \lambda^b \mu^{1+r} (\mu - \nu) \nu^{1+r} (\mu^{a+b} \mu^n - \nu^{a+b} \nu^n) + 2\lambda^{2+r+n} \lambda^a \lambda^b \mu^r (\mu - \nu) \nu^r (\mu^{1+n} \mu^a \mu^b - \nu^{1+n} \nu^a \nu^b))}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{(-\lambda^{2+r} \mu^{1+n} \mu^a \mu^b \nu^{1+n} \nu^a \nu^b (\mu^r - \nu^r)^2 - \lambda^r \mu^{2+n} \mu^a \mu^b \nu^{2+n} \nu^a \nu^b (\mu^r - \nu^r)^2 + \lambda^{1+r} \mu^{1+n} \mu^a \mu^b \nu^{1+n} \nu^a \nu^b (\mu + \nu) (\mu^r - \nu^r)^2)}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{(-\lambda^{1+n+2r} \lambda^a \lambda^b \mu (\mu - \nu) \nu (\mu^r \nu^{a+b+n} - \mu^{a+b+n} \nu^r) - \lambda^{2+n+2r} \lambda^a \lambda^b (\mu - \nu) (-\mu^r \nu^{1+n} \nu^a \nu^b + \mu^{1+n} \mu^a \mu^b \nu^r))}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{\lambda^{1+n} \lambda^a \lambda^b \mu^{1+r} (\mu - \nu) \nu^{1+r} (\mu^a \mu^b \mu^{n+r} - \nu^a \nu^b \nu^{n+r}) - \lambda^{2+n} \lambda^a \lambda^b \mu^r (\mu - \nu) \nu^r (\mu^{1+n} \mu^a \mu^b \mu^r - \nu^{1+n+r} \nu^a \nu^b)}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2}, \\
 \\
 & D\mathbb{H}T_{n+r}^H D\mathbb{H}T_{n-r}^H - (D\mathbb{H}T_n^H)^2 = -2\lambda^a \lambda^b \lambda^n (\mu^a \mu^b \mu^n + \nu^a \nu^b \nu^n) + \lambda^a \lambda^b \lambda^{n+r} (\mu^a \mu^b \mu^{n-r} + \nu^a \nu^b \nu^{n-r}) + \mu^a \mu^b \mu^{n-r} \\
 &+ \nu^a \nu^b \nu^{n-r} (\mu^r - \nu^r)^2 + \lambda^a \lambda^b \lambda^{n-r} (\mu^a \mu^b \mu^{n+r} + \nu^a \nu^b \nu^{n+r}).
 \end{aligned}$$

*Proof.* By using the Binet formulas from Theorem 4.4, we obtain

$$\begin{aligned}
 & D\mathbb{H}Z_{n+r}^H D\mathbb{H}Z_{n-r}^H - (D\mathbb{H}Z_n^H)^2 \\
 &= \left( \frac{\mu^a \mu^b \mu^{1+n+r}}{(\mu - \nu)(\mu - \lambda)} + \frac{\nu^a \nu^b \nu^{1+n+r}}{(\nu - \mu)(\nu - \lambda)} + \frac{\lambda^a \lambda^b \lambda^{1+n+r}}{(\lambda - \mu)(\lambda - \nu)} \right) \left( \frac{\mu^a \mu^b \mu^{1+n-r}}{(\mu - \nu)(\mu - \lambda)} + \frac{\nu^a \nu^b \nu^{1+n-r}}{(\nu - \mu)(\nu - \lambda)} + \frac{\lambda^a \lambda^b \lambda^{1+n-r}}{(\lambda - \mu)(\lambda - \nu)} \right) \\
 &- \left( \frac{\mu^a \mu^b \mu^{1+n}}{(\mu - \nu)(\mu - \lambda)} + \frac{\nu^a \nu^b \nu^{1+n}}{(\nu - \mu)(\nu - \lambda)} + \frac{\lambda^a \lambda^b \lambda^{1+n}}{(\lambda - \mu)(\lambda - \nu)} \right)^2, \\
 \\
 &= \lambda^{-r} \mu^{-r} \nu^{-r} \frac{(-2\lambda^{1+n+r} \lambda^a \lambda^b \mu^{1+r} (\mu - \nu) \nu^{1+r} (\mu^{a+b} \mu^n - \nu^{a+b} \nu^n) + 2\lambda^{2+r+n} \lambda^a \lambda^b \mu^r (\mu - \nu) \nu^r (\mu^{1+n} \mu^a \mu^b - \nu^{1+n} \nu^a \nu^b))}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{(-\lambda^{2+r} \mu^{1+n} \mu^a \mu^b \nu^{1+n} \nu^a \nu^b (\mu^r - \nu^r)^2 - \lambda^r \mu^{2+n} \mu^a \mu^b \nu^{2+n} \nu^a \nu^b (\mu^r - \nu^r)^2 + \lambda^{1+r} \mu^{1+n} \mu^a \mu^b \nu^{1+n} \nu^a \nu^b (\mu + \nu) (\mu^r - \nu^r)^2)}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{(-\lambda^{1+n+2r} \lambda^a \lambda^b \mu (\mu - \nu) \nu (\mu^r \nu^{a+b+n} - \mu^{a+b+n} \nu^r) - \lambda^{2+n+2r} \lambda^a \lambda^b (\mu - \nu) (-\mu^r \nu^{1+n} \nu^a \nu^b + \mu^{1+n} \mu^a \mu^b \nu^r))}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{\lambda^{1+n} \lambda^a \lambda^b \mu^{1+r} (\mu - \nu) \nu^{1+r} (\mu^a \mu^b \mu^{n+r} - \nu^a \nu^b \nu^{n+r}) - \lambda^{2+n} \lambda^a \lambda^b \mu^r (\mu - \nu) \nu^r (\mu^{1+n} \mu^a \mu^b \mu^r - \nu^{1+n+r} \nu^a \nu^b)}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2}.
 \end{aligned}$$

Similarly, we have

$$\begin{aligned}
 & D\mathbb{H}T_{n+r}^H D\mathbb{H}T_{n-r}^H - (D\mathbb{H}T_n^H)^2 \\
 &= \left( \mu^a \mu^b \mu^{n+r} + \nu^a \nu^b \nu^{n+r} + \lambda^a \lambda^b \lambda^{n+r} \right) \left( \mu^a \mu^b \mu^{n-r} + \nu^a \nu^b \nu^{n-r} + \lambda^a \lambda^b \lambda^{n-r} \right) - \left( \mu^a \mu^b \mu^n + \nu^a \nu^b \nu^n + \lambda^a \lambda^b \lambda^n \right)^2, \\
 &= -2\lambda^a \lambda^b \lambda^n \mu^a \mu^b \mu^n + \lambda^a \lambda^b \lambda^{n+r} \mu^a \mu^b \mu^{n-r} + \lambda^a \lambda^b \lambda^{n+r} \mu^a \mu^b \mu^{n+r} - 2\lambda^a \lambda^b \lambda^n \nu^a \nu^b \nu^n - 2\mu^a \mu^b \mu^n \\
 &+ \lambda^a \lambda^b \lambda^{n+r} \nu^a \nu^b \nu^{n-r} + \mu^a \mu^b \mu^{n+r} \nu^a \nu^b \nu^{n-r} + \lambda^a \lambda^b \lambda^{n-r} \nu^a \nu^b \nu^{n+r} + \mu^a \mu^b \mu^{n-r} \nu^a \nu^b \nu^{n+r}, \\
 &= -2\lambda^a \lambda^b \lambda^n (\mu^a \mu^b \mu^n + \nu^a \nu^b \nu^n) + \lambda^a \lambda^b \lambda^{n+r} (\mu^a \mu^b \mu^{n-r} + \nu^a \nu^b \nu^{n-r}) + \mu^a \mu^b \mu^{n-r} + \nu^a \nu^b \nu^{n-r} (\mu^r - \nu^r)^2 \\
 &+ \lambda^a \lambda^b \lambda^{n-r} (\mu^a \mu^b \mu^{n+r} + \nu^a \nu^b \nu^{n+r}).
 \end{aligned}$$

□

**Theorem 4.9.** (Cassini's identities) Let  $D\mathbb{H}Z^H$  and  $D\mathbb{H}T^H$  be the dual hyperbolic Narayana and Narayana-Lucas hybrid quaternions respectively. Therefore, for  $n \geq 1$ , we have

$$\begin{aligned}
 & D\mathbb{H}Z_{n+1}^H D\mathbb{H}Z_{n-1}^H - (D\mathbb{H}Z_n^H)^2 \\
 &= \lambda^{-1} \mu^{-1} \nu^{-1} \frac{(-2\lambda^{2+n} \lambda^a \lambda^b \mu^2 (\mu - \nu) \nu^2 (\mu^{a+b} \mu^n - \nu^{a+b} \nu^n) + 2\lambda^{3+n} \lambda^a \lambda^b \mu (\mu - \nu) \nu (\mu^{1+n} \mu^a \mu^b - \nu^{1+n} \nu^a \nu^b))}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{(-\lambda^{3+1+n} \mu^a \mu^b \nu^{1+n} \nu^a \nu^b (\mu - \nu)^2 - \lambda \mu^{2+n} \mu^a \mu^b \nu^{2+n} \nu^a \nu^b (\mu - \nu)^2 + \lambda^2 \mu^{1+n} \mu^a \mu^b \nu^{1+n} \nu^a \nu^b (\mu + \nu) (\mu - \nu)^2)}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{(-\lambda^{3+n} \lambda^a \lambda^b \mu (\mu - \nu) \nu (\mu \nu^{a+b+n} - \mu^{a+b+n} \nu) - \lambda^{4+n} \lambda^a \lambda^b (\mu - \nu) (-\mu \nu^{1+n} \nu^a \nu^b + \mu^{1+n} \mu^a \mu^b \nu))}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2} \\
 &+ \frac{\lambda^{1+n} \lambda^a \lambda^b \mu^2 (\mu - \nu) \nu^2 (\mu^a \mu^b \mu^{n+1} - \nu^a \nu^b \nu^{n+1}) - \lambda^{2+n} \lambda^a \lambda^b \mu (\mu - \nu) \nu (\mu^{1+n} \mu^a \mu^b \mu - \nu^{2+n} \nu^a \nu^b)}{(\lambda - \mu)^2 (\lambda - \nu)^2 (\mu - \nu)^2},
 \end{aligned}$$

$$D\mathbb{H}T_{n+1}^H D\mathbb{H}T_{n-1}^H - (D\mathbb{H}T_n^H)^2 = -2\lambda^a \lambda^b \lambda^n (\mu^a \mu^b \mu^n + v^a v^b v^n) + \lambda^a \lambda^b \lambda^{n+1} (\mu^a \mu^b \mu^{n-1} + v^a v^b v^{n-1}) \\ + \mu^a \mu^b \mu^{n-1} + v^a v^b v^{n-1} (\mu - v)^2 + \lambda^a \lambda^b \lambda^{n-1} (\mu^a \mu^b \mu^{n+1} + v^a v^b v^{n+1}).$$

*Proof.* By substituting  $r = 1$  in Theorem 4.8, this theorem can be easily proved.  $\square$

## 5. Conclusion

This study explores the association of hybrid numbers within the framework of dual hyperbolic Narayana quaternions and dual hyperbolic Narayana-Lucas quaternions. We further examined their interconnections and expressed Binet formulas, generating functions, and exponential generating functions, along with an array of established identities related to these newly introduced quaternions. The novelty of this work lies in its ability to formulate hybrid wavelets that can be applied to the solution of both linear hybrid differential equations and nonlinear hybrid differential equations. Furthermore, these findings may help to analyze complex problems in graph theory. Moreover, the present work may contribute to the development of new cryptographic protocols that can provide robust security mechanisms in real-world applications.

## Article Information

**Acknowledgements:** The authors would like to express sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

**Author's Contributions:** **Pankaj Kumar:** Supervision, Writing- review and editing, Validation. **Shilpa Kapoor:** Conceptualization, Writing- Original draft, Formal analysis.

**Artificial Intelligence Statement:** No artificial intelligence (AI) tools were used in the writing or any other aspects of the preparation of this manuscript.

**Conflict of Interest Disclosure:** No potential conflict of interest was declared by the authors.

**Plagiarism Statement:** This article was scanned by the plagiarism program.

## References

- [1] Y. Soykan, C. Koc, *A detailed study on matrix sequence of generalized Narayana numbers*, J. Sci. Res. Rep., **27**(6) (2021), 40–64. <https://doi.org/10.9734/jsrr/2021/v27i630401>
- [2] F. A. Costabile, M. I. Gualtieri, A. Napoli, *Polynomial sequences and their applications*, Mathematics, **10**(24) (2022), 4804. <https://doi.org/10.3390/math10244804>
- [3] W. R. Hamilton, *Theory of quaternions*, Proc. R. Irish Acad., **3** (1844), 1–16.
- [4] M. Akyigit, H. H. Kösal, M. Tosun, *Fibonacci generalized quaternions*, Adv. Appl. Clifford Algebra, **24**(3) (2014), 631–641. <https://doi.org/10.1007/s00006-014-0458-0>
- [5] C. B. Çimen, A. İpek, *On Pell quaternions and Pell-Lucas quaternions*, Adv. Appl. Clifford Algebra, **26**(1) (2016), 39–51. <https://doi.org/10.1007/s00006-015-0571-8>
- [6] D. Tasci, F. Yalcin, *Fibonacci-p quaternions*, Adv. Appl. Clifford Algebra, **25**(1) (2015), 245–254. <https://doi.org/10.1007/s00006-014-0472-2>
- [7] C. Flaut, V. Shpakivskyi, *On generalized Fibonacci quaternions and Fibonacci-Narayana quaternions*, Adv. Appl. Clifford Algebra, **23**(3) (2013), 673–688. <https://doi.org/10.1007/s00006-013-0388-2>
- [8] A. F. Horadam, *Complex Fibonacci numbers and Fibonacci quaternions*, Amer. Math. Monthly, **70**(3) (1963), 289–291. <https://doi.org/10.2307/2313129>
- [9] A. F. Horadam, *Quaternion recurrence relations*, Ulam Q., **2**(2) (1993), 23–33.
- [10] M. R. Iyer, *A note on Fibonacci quaternions*, Fibonacci Q., **7**(3) (1969), 225–229. <https://doi.org/10.1080/00150517.1969.12431146>
- [11] M. N. S. Swamy, *On generalized Fibonacci quaternions*, Fibonacci Q., **11**(5) (1973), 547–550. <https://doi.org/10.1080/00150517.1973.12430808>
- [12] E. Ozkan, H. Akkuş, *Hyperbolic k-Oresme and k-Oresme-Lucas quaternions*, Proof, **4** (2024), 141–149. <https://doi.org/10.37394/232020.2024.4.14>
- [13] J. Cockle, *On systems of algebra involving more than one imaginary; and on equations of the fifth degree*, Lond. Edinb. Phil. Mag. J. Sci., **35**(238) (1849), 434–437. <https://doi.org/10.1080/14786444908646384>
- [14] M. Akar, S. Yüce, S. Sahin, *On the dual hyperbolic numbers and the complex hyperbolic numbers*, J. Comput. Sci. Comput. Math., **8**(1) (2018), 1–6. <https://doi.org/10.20967/jcscm.2018.01.001>
- [15] F. T. Aydin, *Dual-hyperbolic Pell quaternions*, J. Discrete Math. Sci. Cryptogr., **25**(5) (2020), 1321–1334. <https://doi.org/10.1080/09720529.2020.1758367>
- [16] D. Bród, A. Szyal-Liana, I. Włoch, *Two generalizations of dual-hyperbolic balancing numbers*, Symmetry, **12**(11) (2020), Article ID 1866. <https://doi.org/10.3390/sym12111866>
- [17] A. Cihan, A. Z. Azak, M. A. Güngör, M. Tosun, *A study on dual hyperbolic Fibonacci and Lucas numbers*, An. Ştiinţ. Univ. "Ovidius" Constanţa Ser. Mat., **27**(1) (2019), 35–48. <https://doi.org/10.2478/auom-2019-0002>
- [18] M. Özdemir, *Introduction to hybrid numbers*, Adv. Appl. Clifford Algebra, **28**(1) (2018), Article ID 11. <https://doi.org/10.1007/s00006-018-0833-3>
- [19] S. Kapoor, P. Kumar, *On Narayana-Lucas hybrinomial sequence*, Palestine J. Math., **13**(4) (2024), 865–872.
- [20] M. Liana, A. Szyal-Liana, I. Włoch, *On Pell hybrinomials*, Miskolc Math. Notes, **20**(2) (2019), 1051–1062. <https://doi.org/10.18514/MMN.2019.2971>
- [21] S. Petroudi, M. Pirouz, A. Özkoç, *The Narayana polynomial and Narayana hybrinomial sequences*, Konuralp J. Math., **9**(1) (2021), 90–99.
- [22] A. Szyal-Liana, I. Włoch, *On Jacobsthal and Jacobsthal-Lucas hybrid numbers*, Ann. Math. Silesianae, **33**(1) (2019), 276–283. <https://doi.org/10.2478/amsil-2018-0009>
- [23] A. Szyal-Liana, I. Włoch, *Generalized Fibonacci-Pell hybrinomials*, Online J. Anal. Comb., **15** (2020), 1–12.
- [24] A. Szyal-Liana, I. Włoch, *Introduction to Fibonacci and Lucas hybrinomials*, Complex Var. Elliptic Equ., **65**(10) (2019), 1736–1747. <https://doi.org/10.1080/17476933.2019.1681416>
- [25] Y. Soykan, *On generalized Narayana numbers*, Int. J. Adv. Appl. Math. Mech., **7**(3) (2020), 43–56.